m gejgey 100 G

Fitting for top-running glass doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall or ceiling mounting.

Product highlights

<> Flexibility

Aesthetics

Wall and ceiling mounting with aluminium
or wooden panel

The entire technology is concealed behind
plain panels

Technical specifications

@ Max.

100 kg (220 Ibs.)

$H Max. 2700 mm (8'10 5/16")
£2  Max. 1600 mm (5'3")
[« 8-12.7 mm (5/16" to 1/2")

Installation examples

45
e AL 05 )
16 / 39
s 13
Tl i ]
f
3 = e
= ©
e YEi
R E =
2 J o
=
B 97-..--97 +4 97 97 +4
£ iyl Ty i
D(8-127) D(8-127)
S5u_1u 5 1
@ (%' ) 5. @ (5" © 5
32 = | =
20 10/ 20 | |5, 15 110] 20 |5
250 13u 25 32 19u 13 25m 32
P2 3 3R 32 32 32
6‘(\4 \5‘(\4
| g8 |48
| = | =
11 1] I n
] o @
S| B S| @
3l 5 3 7
3| & 8l 8
ol o| &
2 3 2 2
S| o S| &
@ @ <o o &| |® o~
:
35 04x20 35\ 04x20
P 3
8 8

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

—_

e —

* mit Montagedffnung
with assembly opening *66 19
avec ouverture de montage 2;%" %"
=i
O 000 O
@ @ @ @
80 (127)
5. (5"
3" )
124 *(65) 18 110
7 9 23u [13]
4 @6 52" 2
32
T
8| 't
- N
[
24 - 38
Att. No. 042.3064.071 P
Art. No. 042.3064.072
=
5
3
&
50 =
130 S
3?2 =
o
; .
24 - 33
o0 _1dv
16 " 12

419



m gelgey 100 G

Set for ceiling or wall mounting,
for 1 glass door up to 100 kg (220 Ibs.)

No.

Hawa Porta 100 G/GU/GM/GF, for 1 door

057.3074.071

057.3074.071

Set consisting of:

No.

Running gear, ball bearing,
rollers plastic white

057.3114.071

Stopper, with retention
spring, plastic, gray

057.3073.072

Stopper, without retention
spring, plastic, gray

057.3073.071

Suspension bolt,
M8x32 mm (5/16"x1 1/4"), 2
steel, zinc-plated

057.0123.104

S Hexagon locking nut, M8,
steel, zinc-plated

768.9005.101

Clamping shoe, aluminum,
glass thickness 8-12.7 mm 2
(5/16"-1/2")

057.3032.075

Hexagon screw, M6x20 mm,
(1/4''x25/32") plastic, white

762.9480.000

D Hexagon jam nut, M6,
\LJ—/ steel, zinc-plated 2| 768.2001.101
/l Bottom guide, playfree
%fﬁ adjustable, chrome-plated, 1 | 057.3030.071
& matt

Wall buffer, 19x10 mm
(8/4"x13/32"), rubber, black

024.0002.046

Countersunk head screw,
4x20 mm (5/32"x25/32"), 3
steel, zinc-plated

766.5042.120

Running tracks

mm
(inch) No.
1,700 057.3048.170
(5'6 15/16")
2,000 057.3048.200
(6'63/4")
?’500,, 057.3048.250
Combi running track, | ©'2718"
aluminum, pre-drilled
3 3,500 057.3048.350
(11' 5 25/32")
6,000 057.3048.600
(19' 8 7/32")
cutto | 4573048.990
size

420

Panels
mm
(inch) No.
2,500 057.3050.250
(8'27/16")
~ 3,500 | 457 3050.350
/ Clip-on panel, (11'5 25/32")
aluminum, anodized
6,000 | 457 3050.600
(19'8 7/32")
cutto | 957.3050.990
size
Screening seal for 20,000
fascias, plastic, black | (s 7 13/32") 057.3078.002

Clip-on components

No.

Clip component for wooden
and aluminum panel, every 500
mm (1'7 11/16"), aluminium,
pre-drilled

>

]

057.3117.001

Panel end component set, 44.5 mm (1 25/32"), aluminum

No.

Panel end component set, 44.5 mm (1 25/32"),
one-sided, wall mounting

057.3052.074

057.3052.074

Set consisting of:

No.

Panel end component,
44.5 mm (1 25/32"), 1
aluminum, anodized

057.3052.904

Screw, M4x2.6 mm
(5/32"x 1/8"), 4
steel, zinc-plated

011.0101.171

Bracker connector, steel,
zinc-plated

{l@ |

057.3051.101

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




Panel end component set, 50 mm (1 31/32"), aluminum

No.

Panel end component set, 50 mm (1 31/32"),
one-sided, ceiling mounting

057.3052.071

Set consisting of:

057.3052.071

No.

Panel end component,
50 mm (1 31/32"), 1
aluminum, anodized

057.3052.901

Bracker connector, steel,
zinc-plated

057.3051.101

Screw, M4x2.6 mm
(5/32"x 1/8"), 4
steel, zinc-plated

011.0101.171

Bottom guide

m gejgey 100 G

Adjustable without play for wall mounting

No.
Bo_ttom guide wall mounting, 0573015175
adjustable free from play

Accessories

No.
Bottom door stopper, with 20773
centering, chrome-plated, matt

% Track cleaner, plastic, blue 057.3099.071

Wooden panels

46
Soft close 1
For soft closing in opening and closing direction . 115 2512” 05
>4 035 16
order 2 sets. = = spe g/ "
No. Tloe = E{@e ol
Soft close Hawa Porta 100, Divido 100, S| 5 3%
61-100 kg (133-220 Ibs.), 1 piece 042.3102.071 N 9|
Soft close Hawa Porta 60/100, Divido 100, SEZS =
10-60 kg (22-132 Ibs.), 1 piece 042.3102.072 |
SR
SRS 717 +{4 717 +{4
| X i ) 4 A ]9 N
=3R=] No. D(s-127)| | 2| 2 ®-12n)|| *| *
(Y)- (") S5u_1u S5u_1u
o 9| g @ (&' -2") o Js. @ (%'-2" o s
Set consisting of: oo 15 hol 1 z S 2ol 2| ﬁ =
19+ 134 27n 32 27n 130 21 32
Soft close, top running, o w %%
61-100 kg 1 042.3106.071
(133 to 220 Ibs.), plastic i
Calculations of panels
Trigger for soft close Schiene/Track/Rail Schiene/Track/Rail 9
in buildings, zinc die 1|1 | 042.3105.001 i
casting ¥
&Egm Screw set soft close 1| 1| 600.0000.566 ™
Soft close, top running, Clipblende/Clip fascia/Cache a clipser Clipblende/Clip fascia/Cache a clipser
10-60 kg (22 to 132 Ibs.) 1 | 042.3106.072 = Schiene/Track/Rail + 7 () | = Schiene/Track/Rail + 7 (35 || ,
plastic e &
Schiene/Track/Rail 3_ 16
Wall compensation profiles i
mm
(inch) No.
Wall compensation ‘2’500” 042.3064.071 ] ‘ e
profile, with sealing (8'27716")
profile gray, 3,000 Holzblende/Wooden fascia/Cache en bois
aluminum, anodized | g 115 | 042-3064.072 — Schiene/Track/Rai + 19 (3)
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 421




m gelgey 100 G

Bottom guide with zero clearance Bottom door stopper
25 45 Einbauvariante
04 %.. 13.. Mounting version

Variante de montage

Qe |-
- gl
- &l [I®
&= . - — 045%20
G =
20 |(20-34) 5 81.5
" " " 3 wa
Bty i 35
Further installation examples
Blende/Cover/Couverture
. Deckenmontage/Ceiling mounting/Montage au plafond
Soft close
Z= 7=3 1480
1 2 Z=>1"63"
0 1 2 0 1 2
* E *Momageéﬁnung
Hawa Porta 60/100 H/HC 165 | 1ok |1 1d | 2rad 262 293 = assembly opening
ouverture de montage
Havia Porta 60/100 HWHMD/HMT | 1" 623" | 197k [ 1114 | 2043 | 268" |20 | | o =—2oK 1 2 et 9
62
0 1 2] 0 1 2
Hawa Porta 100 G/GU/GM 1‘6%" 1‘9%” 1,11%‘. 2‘4%. 2'6%2” 293% * E e
Hawa Porta 60/100 H/HC 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GW/GWF 18 | 1ol | 1 1d | 26" | 2'6%" | 2' 72" | [THawa Porta 60/100 HMJHMD/ANIT | 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GMD 1‘7312" 1-9312-‘ 1| 2 5%-- 2‘7%” 2 7%-- Hawa Porta 100 G/GU/GM 480 | 535 | 590 | 730 | 785 | 840
Hawa Porta 100 GW/GWF 512 | 542 | 6590 | 762 | 792 | 840
Hawa Divido 100 H/HW/GR 16 1o 1 i | 2@ |2 629 | 2o | [HavaPora 100 GMD 488 | 539 | 590 | 738 | 789 | 840
- 5 T A o | o 1o aBe oot | | Hawa Divido 100 H/HM/GR 480 | 535 | 590 | 730 | 785 | 840
Hawa Divido 100 GRM 185" |07 105" | 2°6" 1 2°8%" |12'10%" | [Hawa Divido 100 GRM 512 | 567 | 622 | 762 | 817 | 872

_ ! ! !o = 7
2570
> 1-10%"

2=>730

7=22-43"
Accessories Planning/execution
— Lock solutions from page 479 Further information about the product can be found
— General accessories from page 487 on www.hawa.com.

— Glass recommendations from page 504

422 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



